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General Instructions :

(i)  All questions are compulsory.

(i) Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

.. (iii) Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

( iv) Questions number 11 - 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. Taust sRiem & gaifus o8 gee] #t IR ST |

Highlight the most novel aspect of the Chipko Movement.

2. @-ﬁﬁmaﬁmﬁh%wﬁmﬁmﬁﬁﬁmﬁﬁmwﬁmwﬁﬁ?2x§=

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

3. TF 9 ¥ iy afad 39 o € oi ot — a@‘rm‘rmﬁu’m FIET THT fay w0 A
TTEROT GEY SR 9

Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

4. A (TUHETT,) i ST 47 FF TE 2
Why was ASEAN established ?
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5. afer # SR | weitue Frefonad SO S § I W 0E el T 8 2 | 1

(a) aF Sefafe aor Wrer fava 3 de faer @ e o |
(b) zEE Frator el fava go & qia wwamw fen @ |
(c) T R T/ 9 T, 1989 Ft arg fear w4 |
(d) TE ST & ST S S THIROT H T 9T |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.

) (b) It was built immediately after the Second World War.
(¢) It was broken by the people on 9™ November, 1989.
(d) It marked the unification of the two parts of Germany.

6. AT % Qe ke ¥ T AW € 2 2
What is meant by the Cuban Missile Crisis ?

7.  QETOR WA 1 YIS HH R e T Q0 fohar v 2

How was the reorganization of North-East India completed and by when ?

8. iRE 1950 % T H, 331 F I fewdi 1 A SR W yHien far man ar, S deie
I 1966 T Teiten T FAT TS 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 ?

9. Prfefas = @&l oo T 4x1r=2

(A) (B)
(a) T Qe faamms i () T AEER
(b) 1974 § ToT Y EASA HT A [HAT (i)  STAWHRT AXE0T
(©) & ufyded § wiiel €1 § TR (iii) S HATSH

(d) e feuwe & Hia (iv) =i T, ¥
Match the following :

(A) (B)
(a) A politically controversial appointment (i) Charu Majumdar
(b) Led the Railway strike in 1974 (i) Jayaprakash Narayan
(¢) Declined to join Nehru's Cabinet " (iii) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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10.

11.

IZ.

13.

14.

15.

“TIET TR F a7 TS T F T ° 92 @ o F T Y GHEr G 6
I HEA & | T 30 9 | Fel °9F GeNd & 7 2

“The leaders of the newly independent India did not see politics as a problem; they

saw it as a way of solving the problems.” How far do you agree with the statement ?

it g % TvET WA T g R uR Teet s w1 See@ W 1 dx 1=4

" Mention any four significant changes in Indo-China relations that have taken place

after the Cold War.

T (WTO) F1 forga ¥ 71 & 7 Tt TI91 % g% ot 2 9% {69 UshR ®e e
L3 1+41+42=4

What is the full form of W.T.O. ? When was it set up ? How does it function ?

“NR THR AR § Wl fafi Sesmat & areaw @, Sfvaes warEt § 9i o w0
TH FHUH & THGA ¢ HIE 9N ST ST | 4x1=4
“The Indian Government is already participating in global efforts through a number

of programmes related to environmental issues.” Give any four examples to support

the statement.

TESEIEE B 1948 H T T WEfeRe TR 'R ¥ foe ooy s At ittt ot
TR HIAT | 9% GRT HUG GET H AT &E & B2 8 AU F Ioord
T | 2+2=4

Highlight the circumstances that compelled the socialists to form a separate Socialist

Party in 1948. Mention any two grounds on which they criticized the Congress Party.

1977 % &1 St ST It A 69 R 1975 H TR T AIRTHS & SR S0 GIE
g 3 faar ¢ =wen ifw | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency
imposed in 1975 ? Explain.
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16. e 50 Fr s & Hieet % WE TR P ST TR Hi | 4

Critically examine the major outcomes of the Indian model of mixed economy.

17. ﬁhmm'ﬁwqﬁﬁmﬁmﬁi@mﬁ%wﬁmz 2+2+1=5
wﬁmmmmqﬁmﬁma}ﬁmsﬁa@qﬂwmﬁm | A
T FEA m%wmﬁmwﬁwm&mwaﬁaﬁ%%uﬁg
Tohed & |ﬁvaﬁmqﬁwﬁmwma€ﬁwﬁwﬁﬁr%ﬁaﬁﬁme |

1973 # FTa- 3R 4% §3 A1 | b A% ¥ foree e o o7 S e gI A | WA
Tt 3 At & T A R g A At | YA T a9 § SgeE WS ¥ o e | "R

F TRt SgT IR 9 T |

(D A 3 3O Ve TTHTY TRieoT 4 fehar S i 2

(ii) m#mmﬁwﬁw,wmaﬁwaﬁaﬁmﬁ%mmﬁmﬁqm
=T T ST & 2

(iii) 1970%W%mﬁaﬁamaﬁaﬁgﬁwm%mwﬁﬁmh§aaaﬁ
ot 2

Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Israel War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab

nations. It led to economic turmoil in India resulting in high inflation.
(i) When did India conduct its first nuclear test and why ?

(ii) Why was the period, when the nuclear test was conducted in India, considered

to be a difficult period in domestic politics ?

(iii) Which international event of 1970s was responsible for high inflation in India ?
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18. e T MU FWA F AFYEE AT FIC AT FAferias 79t F I AT ;

2+1+2=5
SINCE 1989
,\‘ 3 . ; “.“. ) iy
(i) RT T FEA ¥ e a8 TG Adre B GEUE HINT 90 U&® St HH g |t

fefET |
(i) 9RA & WUH HA % T H A A, 2 F HEH F G TEERTE g8 . 9 2
(iii) 1989 % @i T AT o, 1 T UF % g ot 5ot i et o 2

Study the cartoon given below and answer the following questions :

SINCE 1989
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(i) Identify any four national leaders from the above cartoon and mention the serial
number of each.

(i) Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(iii) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 ?

Az Frefefad v S gheatam whentaar & o ue w9 18 % ®F WE |
2+1+42=5
(18.1) 1984 3 i o farert & foper wer = atiferes i Siieft S feperes et o 2
(18.2) 1990 F L Hrat i TWEHT A F T waiityp feramrreas Forg fern 2
(18.3) e o T 3 7 3o GURT h ST 7T gt s wiRome e 2

Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 18.

(18.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?

(18.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(18.3) Which Prime Minister started the new economic reforms and what was
its outcome ?

19, T T SrEERoT B SAFYES ured 3 Frefeia st & SR ST ; 2+2+1=5

TR drravet far g ¥ o Svdieor & ST T5T Y ST ! THRT B SN BT
¥ 5@ 0 3 o o e o ¥ | IR § SO U i AR S A S T &
3 TR E A TR 9T ¥ @ ot ¥ | Uo7 I FIF T F b & A H
e Tt ¥, S FET SR AT HI S @A T S ARG B G B | T W
F T AT F RS VR - FeaTeR) et @ i foran & fore e afas AT
AERE-HT BT O | S-SR TS $ ST 31 NN g SR WHi
SR 1 e e
() T HY T F P ST U ISR FRI I VR B A L HC |
(i) TR T F SO S O S I o e ?

(i) TR R T WIS Teftsre w1 el s T
59/1/2 7 _ [P.T.O.



Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capacity’ imply ? Explain with the help of
an example. :

(i) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?

20. f&w T smEeReT W EFYEE UieT AR fHEfiEd TeE % I 3T 1+2+2=5

T 3 1 GSETE Seaw F A [ e qS 91 | T TaeE o1 6 9 AR W W

T & T e o U | 9 AR 3 T e o e P 6 et sl v

e AT | T S T ) G 3 Rt St e i & d g S

T e A | e w el w3 aeer T S fee vt ¥ wi e EE |5

Terrror ¥ ot off Aepoush stere a1 AR B I HSR el 6T T |

() ORI F A Ferfan F eroelt seen # Xt oRE € TRER o a1 |

(i) GrfEs Gt St ol W H T ager S o9 2

(iii) I R G T W B GEAT € A, A s w et s % o
TEet 31 T B W 9 92

Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist economy,
which meant rooting out completely any structures evolved during this period. Above
all, it meant that private ownership was to be the dominant pattern of ownership of
property. Privatization of state assets and corporate ownership patterns were to be
immediately brought in. Collective farms were to be replaced by private farming and
capitalism in agriculture. This transition ruled out any alternate or ‘third way’.

(i) Name any two countries which were required to make a total shift.
(i) Why were the collective farms to be replaced by private farming ?
(iii) Since the ‘third way’ had been ruled out, what were the only two ways of

controlling the economy ?
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21.

Y
9

z:r
&
2t
3
2
2

2 20 Il TR i3 7 SR | ST
R e e 2feor e S YAt J, O i w @), ®), (©), (D) @ (E) Ry sw
T E | AR S T IR F SR R I e ST S S 3R g § 3 g
A % W, WA H TS STHRT B 5EH T q Fataa S st e & v arferer  ww
fofew | 5x1=5

T TG B HAE | W AW | ST

() U FRTEYUT <1 WY S A0 Ok 1 9 A S S |
(i) T 30 H WAHAITD HowT THeT T |

(iii) ¥W 30 F WFF T SRAFF I R F AR W E |

(iv) o€ 3 T HAIH ToRT @ |

(v) U B T A 1968 T T FowTd o1 | -
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In the given political outline map of South Asia, five countries have been marked as
@, ®), ©, D) and @ Identify them on the basis of the information given below
and write their correct names in your answer book along with their respective serial

number of the information used and the concerned alphabets as per the following
format :

Sr. No. of the.information Alphabet | Name of Country

(i) Animportant country but it is not considered to be a part of South Asia.
(ii) The country has a successful Democratic System.
(iii) 'This country has had both Civilian and Military rulers.
(iv) This country had Constitutional Monarchy.
(v) An Island nation which was a Sultanate till 1968.
2t Prefefed W dae gheaie e % U o e 21 § WH W
R 2+1+2=5
(21.1) ot oferar = w: P ¥ 33 T FHT SI & 2
(21.2) o v R & A 20§ S S SR o € ?
(21.3) T8E (SAARC) T R (SAFTA) ¥ forga v ety |

Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?

(21.2) Which two countries of South Asia have successfully operated
democratic system ?

(21.3) Write the full forms of SAARC and SAFTA.

23, ﬁwmaﬁw%mm%mﬁmm%@#m?sﬁﬁﬁ,m%m

A fafirr gl 1 faveo ST | 3x2=6
Frean

@wﬁwmmwmﬁmﬁmmaﬁmwmma

T T, T TS T 27 & AT IeRer € | ) 3Ix2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.
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23.  Wifea du o Wi e #t 5§ TR qu de TR et Bt s R

Lo E - I 3+43=6
AYAar

TE FEAT FEl aF I6q € [ M I§ F INE, FRSH TSt F R sewmeEt #

STt i B 2w o @i ¥ v @ e o 2 e R | 6

Highlight any three positive and three negative features each of the Soviet system in
the Soviet Union. ’

OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.

24. WY T et U < A GURT 1 A0 HiAg B o e el gewe € e v g

% T T A A ¥ 2x3=6
: argan

IRARE Gt A % T T & F § v WeH $ A FIC | HE 7T I8 Fer

& T o AT & 2 3+43=6

Describe the two basic reforms of the U.N. on which almost everyone agrees that
they are necessary after the Cold War.

OR

Explain balance of power as a component of traditional security policy. How could a
state achieve this balance ?

25. T ST WA F T & e, e e B e W e § weww oRkfefE e
favctwnr i | R T @ weE S F w0 F ciehaa wE e gt e AR

Ul T IeE HITAT | 2+4=6
T

25 [, 1975 it uRa ® MU feafe #t wwon fpe SR & foo s uiferfagt @

feretaor ST | ) 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR

Analyse the circumstances responsible for the declaration of a state of emergency in
India on 25" June, 1975.
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26. “&Eg 1Tl W JEAT AT 9T F YR G AT 4] TS HET, UF AGdig FeH F 9

# 3@ T P 39 FYH S At fog w0 ¥ e g 9 soge a i 3x2=6
reraT

WA & TR 9RG W S WH A oNige o % Aee ¥ Watyd Wewi aur

ITHEHNT o AT~ &3 T T HT | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
’ arguments.
OR
Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.

27. Y URY § =t YN (ATEh) fERie SiiEer & 37 qE 0 AU FIT R ¥ 39 0 E

e foar | 6
- et

R 1% faemet 397 % uwieor % faen o fafuer % wia wedits gheswor % et # qo=

T | 6

Describe the issues associated with the An_ti-arrack Movements in Andhra Pradesh
which drew the attention of the entire country.

OR

Describe the advantages of the democratic approach to the question of diversity in
uniting a large country like India.

59/1/2 12



